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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
 es performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1549 3.4 1.3 5 67.3 99.9
2 1549 4.4 0.8 5 87.1 99.9
3 1549 2.9 0.9 4 72 99.9
4 1548 4.3 1.1 5 86.7 99.9
5 1541 2.2 1.2 5 43.5 99.4
6 1545 1.7 1.2 6 27.9 99.7
7 1530 1.3 1.1 5 25.6 98.7
8 1523 0.5 0.7 5 9.2 98.3
9 1524 1.1 1 5 21.9 98.3

0
67.3

87.1
72

86.7
43.5

27.9
25.6

9.2
21.9

0 10 20 30 40 50 60 70 80 90 100

All Candidates performance across…
Question Title

1
2
3
4
5
6
7
8
9

Facility Factor %

Q
ue

st
io

n

C800U20‐1 Eduqas GCSE French Component 2 
Foundation Tier

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question 5 [5] 
 
Section 1 
 
Lucy :  Jérôme ! Viens vite. Nous sommes en retard pour prendre notre train. On 


devra prendre le bus pour arriver à la gare à midi. 
 
Jérôme :  Reste calme Lucy, je vais appeler un taxi. 
 
Lucy :  Oh, merci Jérôme. Quelle bonne idée. 
 
Jérôme :  Alors, si nous prenons un taxi nous allons arriver à la gare avant midi. 
 
Section 2 
 
Lucy :  Mais Jérôme, quand j’arrive à la gare je devrai acheter les billets.  
 
Jérôme :  Pas de problème Lucy. Nous avons encore une demi-heure avant le départ 


de notre train. 
 
Section 1 
 


Lucy’s problem (1) late (for train/to get to station) 


Lucy's solution (1) (take) bus 


Jérôme’s solution (1) (get) taxi 


 
Section 2 
 


Task at the station (1) buy/get ticket 


Time before train leaves (1) 30 minutes/half an hour 


 
  








Sticky Note

Question 5 Section 2 (ii)
Time was often incorrectly answered in this section.



Sticky Note

Question 5 Section 1 (ii)
Correct. Coach was accepted as an alternative for bus.












Sticky Note

Question 5 Section 1
"to take the bus at midday" is incorrect as it contradicts the transcript, which states that she has to arrive at the station at midday.








Sticky Note

Question 5 Section 1: Lucy's problem
This is a common incorrect answer. It is Lucy who is late, not the train.
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Question 5	 [5]


Listen to this conversation about a journey. Complete the grids in English.


Section 1


Lucy’s problem	 [1]


Lucy’s solution	 [1]


Jérôme’s solution	 [1]


Task at the station	 [1]


Time before train leaves	 [1]


Section 2
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Question 7 [5] 
 
Bruno :  Ça va, Anna ? 
 
Anna :  Non, Bruno, pas du tout. Mon portable est tombé en panne.  
 
Bruno :  Écoute, tu n'en as pas vraiment besoin.  
 
Anna :  Mais si. Qu'est-ce que je vais faire sans toutes mes applis ? Comment est-ce 


que je vais rester en contact avec mes copines ? Sans Instagram et 
Facebook, je ne pourrai pas leur parler. 


 
Bruno :  Alors, à mon avis, le portable, c'est une perte de temps. Fais comme moi. Moi 


et mes copains, on aime beaucoup mieux se rencontrer en personne. 
 
Anna :  Bon, peut-être. 
 
(a) mobile phone (broken down) (1) 
 
(b) (4) 
 


Person Attitude 


Anna (2) Write two details 
 
(i) lost without her phone/essential/needs her apps 
(any 1) 
 
(ii) can't stay in contact (with friends)/essential to 
stay in contact (any 1) 


Bruno (2) (any 2 of:) 
(i) not necessary/needed/you don't need it/one 
 
(ii) waste of time 
 
(iii) better to meet (friends face to face) 


 
  








0



Sticky Note

Question 7b (i) and (ii)
1/2
There needs to be the suggestion here that "she is lost without her phone" for the other mark.








1


0


1


1



Sticky Note

Question 7b (ii)
"rubbish/useless" are incorrect answers which don't convey the same thing as "waste of time".








Sticky Note

Question 7b
Incorrect
A negative is necessary here. "She cannot stay in contact/talk to friends".
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Question 7	 [5]


Listen to Bruno and Anna discussing a problem. Answer the questions in English.


	 (a)	 What is the problem? Write one detail.	 [1]


	


	 (b)	 What are Bruno and Anna’s attitudes? Write two details for each person in the table 
below.	 [4]


Person Attitude


Anna
 (i)  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(ii)  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


Bruno
 (i)  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(ii)  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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Question 8 [5] 
 
Section 1 
 
Guide : Bonjour messieurs et mesdames. Nous sommes ici au pied de la célèbre tour 


CN, la tour la plus haute du Canada. Votre premier arrêt sera la plateforme 
panoramique en verre. Ensuite pour les plus courageux, vous pourrez 
continuer votre montée jusqu'à la Nacelle en utilisant un ascenseur ultra-
rapide. Attention. Il vous faudra un billet supplémentaire pour arriver à la 
Nacelle. 


 
Section 2 
 
Guide :  La Nacelle vous offrira en permanence un panorama unique sur 360 degrés. 


Lorsque les conditions météo sont idéales, on peut même voir au loin les 
Chutes du Niagara qui ne sont qu'à 130 kilomètres de Toronto.  


 
Section 1 
 
(a) (at) foot/base/bottom of the tower (1) 
 
(b) glass (1) 
 
(c) (extra/additional/another) ticket  (1) 
 
Section 2 
 
(d) (a) view of 360 degrees/360o/a 360o view/panoramic view (1) 
 
(e) ideal/perfect/weather (conditions) (1) 
 








0


0


0


0


0



Sticky Note

Question 8 Section 2(d)
Incorrect
"view" was not enough without "panoramic" or "360 degrees".








Sticky Note

Question 8 Section 1a
Incorrect
Very few candidates understood that the answer was "at the foot of/ at the bottom of the tower".








Sticky Note

Question 8e
Incorrect answer 0/1.
Ideal/perfect weather conditions is the correct answer.



Sticky Note

Question 8d
Incorrect 0/1.
Correct answer is "a panoramic/360 degree view".



Sticky Note

Question 8c
Incorrect answer 0/1.
Correct answer is "(extra/additional/another) ticket".



Sticky Note

Question 8b
Incorrect answer 0/1.
Correct answer is "glass".



Sticky Note

Question 8a 
Incorrect answer 0/1.
Correct answer should be "at the foot/bottom of tower".
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Question 8	 [5]


Listen to the guided tour of the CN Tower in Canada. Answer the questions in English.


Section 1


	 (a)	 Where is the guide while he is talking to you?	 [1]


	


	 (b)	 What is the main feature of the panoramic platform?	 [1]


	


	 (c)	 As well as the lift, what is essential to get to the “Nacelle”?	 [1]


	


Section 2


	 (d)	 From the “Nacelle”, what can visitors always see?	 [1]


	


	 (e)	 What will enable visitors to see Niagara Falls? 	 [1]


	







